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QUESTION 1

What are the key components of the reporting solution?
A. Templates and pdf document generator

B. Application data storage and data warehouse

C. Reverse proxy server and security certificate

D. Build agent and the build system toolkit

Correct Answer: B

QUESTION 2

What is the velocity for a development team following the Scrum process template?
A. the average number of hours the team can deliver in an iteration

B. the average number of stories the team can deliver in an iteration

C. the average number of story points the team can deliver in an iteration

D. the average number of tasks the team can deliver in an iteration

Correct Answer: C

QUESTION 3

Which format is used to download the results of a work item query in the web client?
A. .docx

B. .html

C. .pdf

D. .csv

E. .odp

Correct Answer: D

QUESTION 4
In an iteration plan, which value is represented by the length of the progress bar

A. The amount of work estimated
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B. The amount of work completed
C. The amount of work on schedule
D. The amount of active work

Correct Answer: B

QUESTION 5

What is a function of a snapshot?

A. to create a picture file of a specific work item in an iteration plan

B. to capture the state of all the components in a stream or workspace

C. to lock a set of files in a repository workspace and provide isolation

D. to track the flow targets for a repository workspace to another workspace

Correct Answer: B
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